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QUESTION 1

Is the following statement correct or incorrect? Because a bypass tunnel Is manually created during TE FRR
configuration, the constraint shortest path first (CSPF) does not need to be enabled.

A. True
B. False

Correct Answer: B

QUESTION 2
Which of the following statements regarding Attachment Bit are correct?

A. After the Level! router receives Level-1 LSP with Attachment bit set to 1, it will generates default route with the
nearest Level-1-2 router as the next hop.

B. The Attachment Bit can be generated by the Level-2 or Level-1-2 router.
C. The Attachment Bit can be generated in Level-2 LSP.
D. The Attachment Bit is carried In Level-1 LSP generated by Level-1-2 router connected to another area.

Correct Answer: A

QUESTION 3

Which of the following type of MPLS L2 VPN carries only one label on an MPLS network?
A. Martini

B. SVC

C.CcCcC

D. Kompella

Correct Answer: D

QUESTION 4

Which of the following statements about CAR are correct?

A. CAR uses token bucket mechanism to measure traffic and allocate bandwidth.
B. CAR can be used for incoming interface and outgoing interface.

C. CAR and queue scheduling cannot be used at the same time because of confliction.
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D. CAR can be used to limit the rate of the specific type of traffic.

Correct Answer: C

QUESTION 5

What are the main features of the SDN controller?
A. Centralized networking

B. Separating the Data Plane and Control Plane
C. Upgrading Routing Protocols

D. Open interface

Correct Answer: AB
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